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Course: Pre-Calculus Pre AP (Master Assignment; 7.1 Classwork Day 1

1.

Find the exact value of the following expression. Do not use a calculator.

o 2]

Select the correct choice and fill in any answer boxes in your choice below.

A, 4 7n
cos | cos | ==

(Simplify your answer. Type an exact answer, using © as needed. Use integers or fractions for
any numbers in the expression.)

"y B. There is no solution,

2. Find the exact value, if any, of the composite function. Do not use a calculator.
cos [cos 11.2)
Select the correct choice below and ’r" II in any answer boxes in your chonce
O A cos (cos “142) =
(Simplify your answer. Type an exact answer, using = as needed. Use integers or fractions for
any numbers in the expression.)
() B. There is no solution.
3, Find the exact sclution of the equation.
-1
12tan x=2=m
The solution set is
(Simplify your answer, including any radlcals Type an exact answer, using radicals as needed.)
4. On the planet Sulvania, a mountain with an elevation of ' The first rays of the sun touch the summit about
1610 feet is the highest peak on the east coast of a land J; minutes sooner than the hase of the
mass. The summit of the mountain is the first place onthe | 5untain below, at sea level.

land mass to be lit by the rays of the sun. How much sooner E (Round to two decimal places as needed.)
do the first rays of the sun touch the summit than the base
of the mountain below, at sea level? Assume that one
rotation of Sulvania takes 24 hours and that the radius of
Sulvania is 2890 miles.
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LA -1 n i
. A.cos cos | 27| |= 8

(Simplify your answer. Type an exact answer, Using = as needed. Use integers or fractions for any numbers in the
expression.}

2. B. There is no solution.

3. /3

3

4, 3.33
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